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QUESTION 1

A customer has a network where BGP has been enabled and the BGP neighbor is configured on the Tier-0 Gateway. A
NSX-T Data Center administrator used the get logical-routers command to retrieve this information: Which two
commands must be executed to check BGP neighbor status? (Choose two.) 

A. vrf 3 

B. vrf 1 

C. vrf 4 

D. sa-nsxedge-01(tier1_sr)> get bgp neighbor 

E. sa-nsxedge-01(tier0_sr)> get bgp neighbor 

F. sa-nsxedge-01(tier0_dr)> get bgp neighbor 

Correct Answer: AE 

 

QUESTION 2

Which two commands are used to query the arp-table of a logical switch? (Choose two.) 

A. get logical-switch arp-table  

B. get logical-switch arp-table  

C. get logical-switch arp-table 
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D. get logical-switch arp-table 

E. get logical-switch arp-table 

Correct Answer: DE 

 

QUESTION 3

Which two statements are true for a Tier-1 Gateway? (Choose two.) 

A. owned and configured by the Tenant 

B. connects to physical networks 

C. owned and configured by Service Provider 

D. always configured in active-standby mode 

E. supports ECMP 

Correct Answer: BD 

 

QUESTION 4

Which CLI command would an administrator use to allow syslog on an ESXi transport node when using the esxcli
utility? 

A. esxcli network firewall ruleset -e syslog 

B. esxcli network firewall ruleset set -a -e false 

C. esxcli network firewall ruleset set -r syslog -e true 

D. esxcli network firewall ruleset set -r sysloq -e false 

Correct Answer: C 

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.2/nsxt_22_troubleshoot.pdf 

 

QUESTION 5

A DevOps user has deployed a Kubernetes Pod in vSphere. 

What does the term ClusterIP represent within NSX-T? 

A. Deployment of T1 with NLB service. 

B. Deployment of Distributed Router. 

C. Deployment of Distributed Load Balancing service. 
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D. Deployment of T0 and T1 

Correct Answer: C 
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